To solve this problem, you may do following steps:

1, loose the reverse cable adjustment bolt on the cable fixed bracket (40001-300GK)

2, turn the shifter disk (40002-300GK) a little bit until the engine is not engaged at neutral “N”
3, put the shifting handle bar to the “N” position of the shifter hoise assy. (40700-300GK)

4, fix the reverse cable adjustment bolt, be sure that both ends of the shifter disk is horizontal,
like indicated in the picture 1, and the picture 2 and 3 is showing you how the shifter disk looks
like by “F” and “R” shifting.

(by neutral “N” shifting)



(By forward “F” shifting)



(by reverse “R” shifting)



